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(*) Instructions to candidates:

Figures to the right indicate full marks.

Use of scientific calculator is allowed

Use suitable data where ever required

1)

2)

3)

Q.1 Solve the following

t)tr f (x,./) : sin( xy) + x2log(y) rn"^ ffiat (0,1) tt

a)33 b)0 c)3 d)1

ii) If u = x3 sin-1 () . xzy thenvalue 
"f 

*# * u|at (4,4) is

a)tzl b)64(i*r) )1.28(T*i d)64

/ x*v \ du 0u
iii)lfu=tan-1 I --:-l thenx^ lv:-:"'' \fi*Jr/ dx'dY

1.

-tanu
Z

l2l

L
l2l

a) b) sin 2u c) sin ucosu d
') )

+

1.

) isinZu

ay-
y2-ax

iv) If x : rcosd and ! = rsing then (X) (#)
a)0 b)1 c)r d)r'

v)lf f (x,!): x3 + Y' + 3axY th"n9: "'
dx

a) 3xz * 3ay b) P q:: il,' y'- ax ' y'l ax

vi) Minimum value of the function x2 + y2 I 6x *':L2 is
a)0 b)3 c)-3 d)6

12)

x2 lzl

1

d)

l2l



vii)lfx=rcosg and !:rsing then 
9(''0) 

i,- O(x,y) - l2l

a)1 b)r q: d)o

viii) Percentage error in calculating area of an ellipse having an error of lzl
to/o and2o/o made in major and minor axis respectively is

a) 1o/o b) 2o/o c) 3o/o d) - 1,Vo

ix) The function xz + 4y3 - 12y' - 36y + 2 his at point (0, -1) 12)

a) Maxima b) Minima c) Saddle point d) None of these
x+y _j O(u,v)

' r-xy nav: tan'x+t' d(*,y)" lzl

a)i b);*

r_xi) | sin'x dx : ...
J
0 32n 6+

1*xz
^\_') (1 - xYlz

d)0

L

L

121

5
b)

Ixii) ,-**slz dx : ...

32
c)

35 35
a) d)0IJ

o

d0,,ltane

ftt
/2

xiii) /

0

l1s{i
a)_,B

3li 3,li 3{ib)B c)4 d)z

0

-2IL

^)T d)f,2b) ^li c)
TI

---:
.'lz

xiv) The value of an rn the Fourier series of f (x) : y in the
theinterval 0<x<-2nis
221.a)- b)-- c)- d)0'n ' n 'n

xv) The value of ao in the Fourier series of f (x) : y2 in the
theinterval -r (x(n is

2n2
b)3 c) n2 d) q,

l2)

l2l

12)

lzl
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tr2a)T



Q.2

Q.3

Solve any two out of three

2x /v3 - 3x2\
a)Solve .dx+1' ^ ldy=0/Y3\Y*/

b) Solve (1, + yz)dx - (tan-1y - x)dy

c) Find an orthogonal trajectory of family of curves given by

rz = asin20.

tsl

tsl

tsl

U

Solve any two out of three.

a) Trace the curve y(x2 - 1) - x2 + 1,.

b) Trace the curve 12 : a.2 cos 20 .

c) Trace the curve x2l3 + y2/3 - a2/3.

tsl

tsl

tsl

lsl

Q.4 Solve any two out of three.

7 7+y2

a) Evaluat 
" I I xzy d.xd"y

sl

oy
7 7L-x

Evaluab) -lIlxdzdxdy
oy2o

c) Find the area enclosed by the parabolas x2 : 4ay and y2 : 4ax tsl

u

3


